Math 111 Third Voting Worksheet the back

SAMPLE SoLUTIONS
2. Construct an example of an election that has 100 voters and four candidates:
Cyberman (C), Dalek (D), the Sontaran (S), and Weeping Angel (W).
a. The Cyberman is a majority candidate, and the Weeping Angel wins using Borda count. (Show

how many Borda points both of these have.)
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b. The Dg\[glﬂg\v{vins using the plurality method, but is not a majority candidate.
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¢. The Dalek wins using plurality, but the Sontaran wins using plurality with elimination.
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